Fglmpl B -
& sing 0 =
1ot ,3:( e —aaee——
Fa={i -1 2). He (12 o msf’] Lo sma] I [
i ). # : ! aM(1L2 : then show thut A* + B = . : ]l'.az‘-_(: ;‘ 9J ,[7 38 adl4 find“ndyirr[“} (‘1] “] 7. Neriy thatA* ~Ivhen A~
2 ind the ¥ . w
show that{ ARB)C = A(BC) Salution 7 14 \)J Solution : -3 L;) [6, Salution : |
- 4‘_[fax..uﬂ i ng[sine 0 SM"_’”“M BS54 i)3A—9B Gwmu[4J+y 2y (4 F}_ivam\=£§ sJ
| Lus ()¢ e . 0 cosg) o sifg U“e:‘m‘ -1 SJ_ & To prove | A¥= [ :
show - AT+ B = 4
o B=1 G o dx-ly=d —Ixtdy=6 Loaafs )5
| A= 738 \6 =56 =5
| a=(1 -l 2),,%|2 1 g 3 7% ] = Ix-y=1 *
i = o .- : 14 9) it & T 8] [5-24 20420
SETRI. T. [ws6 0 \feosd 0 ] 375A=r: 1 ZHU 20 45J L R “la0-30 724+zj]
| i i Lo cosf}J[ 0 LUW] o4 9) lee 15 3s M = 2x-y=2 fru
(AR St ‘] cos’ 40 040 ‘(? Eil g, i
| P bz -1 =[ ‘h : * ] -9 -1 -6 Adding, . 0
=48 2-4)=9 -2) .. + 0+cos’ @ 3. A Sibix=ii =
RHS  AEC) - u‘!h—ga:(“ ;— 27‘_[65 27 1) _4: _‘““‘2) Henes proved.
" 4= wa]e] . 21)7le 36 81 y=2= y=6 [Example 3.67
BC=|2 1J Pl ﬂ a i =[_ 65 -45) s x=4.¥=6 B 11 1ifxy (4
- sinf 0 0 15 = o g o4
Lw i), 2 e BzBp- . sns][;m 0 s 27 ) 5 ‘!":nd fhe non-zero values of 3 safislying solve |3 o)l —\SJ
1-24 241 (-1 3 o5 3 v sind) Find the values of x, y, 2 if € matrix equation Solution :
=|242 4-1]|=/a 3| =[Sm 840 040 ) B [ =3 m-z) M1 Q) x(zx .2}'_2[8 g ¥ 8 24] [fz 1 fxy _("
l+e z-3) |7 _J 0+ O+sin’d Try+T xtps 1 aJ - 4 4x 0 ex) W o2), "), L)
! =y i3y | (sin"g 0 ) i) ix y-z z#I+iy 4 H=(4 & YSotusfon -
- = _ 16) .
ABCY=(1 = ’ J | Sotution - 2w (4
] [C] 2].,1“[: JIJ il U sin'e % o . . Given ![2; ﬂdfﬂ Ssz 8 24 -Bym::l:mx-numph'calier\Lr”JJf[i
i =l i) len( =g -z 10 x4 dx 10 & - 2 s .
LAGBC)=(-1-4414 3-3-2) - e XHy+T I+].+Z/|— y 6J V 4= 6 e
=0-2 @) e Y g o] e =L2" %) (15 10x) [Zx?ﬂs 48 oe; Apynt D
= ox-3=1]3x-z= | .
Tram (1) dhd (2), (AB)C = A(BC). sc-v=[u 4] * :7' Imz=0 | xry+r=) RS &xJ 12 ) XH2y=5 @)
R Selution : e Xty=—6 e {)-2x(2pgives 2xey= 4
JZHrA—L ZJ show that A*—SA+7L=0 70 4+y=-6 QLZ’{ vi6 I ,[hfﬂﬁ 43] 2xtdy= 10 ()
Sakctian : [GHEISIEES [3 5] O y=-10 48 a7 8r 20 I2x) o —iy=-6 givesy=2
- 31 ) (x y—z 243)+(y 4 33=(d 8 16) LR Yid —— Substituting ¥ =2 in (1), 2x + 2= d gives x.= |
Lotopl X*Y=[3 U] = nty=4 v—z+4=8|z<6=16 +8=20 = x=12|= x*-4x=0 Therefore, x =1,y =1
To verify : A7~ SA+7L,=0 L) @ g Wz z=10 =i x=4 b )0 q" Show that the matrices ®
! 1+ (10 = x==10| y-lo=4 = x=02=4 12 T Ta ¥
M+{2) = X= A= 2 2
A2=|/] “l[l 1 W3y y=14 . Lx=4 3 1185, lJSalisfy
-1 2fl-1 2 5 0 Cx=—10,¥ = 14,z= L ",4:("“9 sindf :
; Iuhz\; - K={; . y=14,2=10 = ~sing .;me} Prove that AAT = 1 commulative propertyAB = BA
k= [ /é ,/2 3 Es axy (5 tlgs ; Sotution :
-3-2 —1+4] e 3 Solveforxy| . +2[ ]_[] Gi (ews@ sing gy
3 5 M-2) = 2= Solution : B Vg A | I N Gven a=[! 2] p[1 )
= 371 s . -sin® cosd 3 |J' = 1J
i . (2 o Given = 2lr 21\‘ 3 To prove : A.N7 =1 ’ g
. siven |, [+ -~
oA sd, = 'r=b/ ] }'J V) s] LS AB:[; 2\[1 -
o[B8 5[5 S),.f1 @ ¢ ) ;[ cos@ 'y ) s 1)
m i i3 = xl—dx=5 A4 <[ CosE sn8)fcad gy (-6 242
-5 3] A5 10, 01 - & aplaEiyan L—sing cm;J sind = -2+2
| g1 g2 |C0s"#+sintE 0 g 3-3
=[g s‘_[u 5\ (7 0y i X - = E=9Gn- [ s cosssin @ sin gouss Pl
-5 3J —5 A | cos” @+sin’ @ x=5-1|= . | ~sin Gcus 8+ uoa Bei i 6+l foos (5 0
- 01 & 4 AT Lo -s}
U oJ / 5 Hence ﬂ"*[ ][
=5 ai i s 1 la 1) saAB=BA
= Hence piowed: _[1-6 —242) | Commuative propery
S, - Ix_-ﬁ+] —6+1 is Lowe.


https://www.whatsapp.com/channel/0029VaAqUqk9Bb672tBn033m
https://www.padasalai.net/

g 3y -2 2 8-
Example 3.6 'VJ—' iventhat 4= i B= 3 5 o) |fExampte3T0 N 5 1 7 @ > )
o - S | - : 16 PR rr,;,ﬁ ; J.B=l 3 | verity Vi A={ d]andl—-[o I]!hﬂnthat
i "'[_\ 3]’*’:[_4 2}’“[3 z] | f-'=[“4 : :Jverifylhll 1f,¢i[' B ])und.’l— S1 4 | show that y 5 1 :
ify that A(B + C) = AB + AC { Z L 0 o2 | thataBTpry A d A= e -ad L,
verify that A{ )= 3 | A(B+C)=AB+AC (AB)' = BT AL | ) .
Solation : il 2  Solution : Salution : : \
LHS A(B+C) o oan uiton i s 5 oa. 7 Given ,¢=[" b ,z[' 0
by Cmm LHS (AB)T : GwenA:['l . 8]‘ﬂ= 1. 2 i e d]” 0
12y (-7 &Y (-6 8 N 5 2 2 T A M
n+c=[ J+ ]:( ] e 13 geflldd (132 2 -l " ) L5 -1 oprove ' A’ (a+d)A=(bc—ad)l |
o - 8= o= : |
-2 ‘\3 -4 s a5 s ) 41 AB=[1 ? ’1] x|[-1 4 To verlfy : (AB)! {?l’\; Ao
1 1y (-6 8 - 2 ha g 2 5 2 9! At=4.4
age0=| x| To verify : A{ B +C) = AB+AC v 43:[ ]_l 2 2 )
e = _ y 12 g)| ~
61 844 (-7 12 grisiAB <y __(2—2{0 |+a+22]={: :J (Ch {: dJ [0 J
=[57; 4”2]_[3 4)" oy ;[; 3|](2| i :] (3“::1 ’1“'; ’ :[SXHZM{»S‘XS SXT4+2%249%-1 (b abh
o M =| o | 1 Ix1+2sl+8%5 1x7+2x2+8x-] - L
RO ABAC ( I1%243%-1  Ix2+3x6 IxJ+JxS] taBhsls _4J [-; 4) 0 542445 3544-9 "H‘# oekd
) = & R &
AB;[I le[l sz{ -4 242 \sx2e-DxeD Sx2-1x6 Sxa-1x3)f [|+2+4o 7”73) (a+¢1;4=@+d}[: d]
-1 3/ -4 2, (-1-12 -2+6 _(2-3 2418 415 Il RHS(B"AT) L fs2 30
g 4\‘ M0+l 10-6 20-5 12 =[43 3J | =[a’+m( ab+bd |
“\-13 a) k[’--l 0 |9) { n=_{21 -.t. gJ,A'— 2 4 ; . e ca+ed adm"J
1 1) (=7 6) (—7+3 6+2 14 1s : = 1 .-.(AB)’{’ | ) A —(a+d)d
ac= x = [ w0 3) ¢
SR 2] A Te9 -6+6) W pus AB+AC i 2 -1 0 I Z o] _[a'vbe abrbd) (o' +ad ab+aa)l
(-4 8 _fr 3 . n | 132 il "Mf:[ 1 4 ‘-'] =|2 - ol [* ! 5] 2 2 acted berd’ | \cocod advd®
“lis o) sl os 2l s | = EL VP~ F 72 -G berad 0
-3 4) (4 & _[1e Sle1s 246 (Hz 3+3 240l 2-240  4+1+0 :[ o ]
T""""‘"‘“"'B*"&[_n : 4.[”, n] =53 Zsos wooz)Lsed 15t s0-3 ) {qu b 4 _[5+2445 1:2440 ¢ bo-ad
= o | T 35+4-9 T+4-3 1o
42 _feods 6l | _— . =lbc—ad)
:-[3 4‘ @i Tl e sJ 9 M7 | =[ _ﬂ ...... @) _(52 43] @ 2
/ (-1 20 19 i 9 A “lao 1) S =(be—ad) (1)
From (1) and (2), A {B + C) = AB + AC. [“ 4 15) st From (1) and (2), (AB)' = BTA" From (1} & {2), (AB)' = BT A" =RHS
d 3 3 B 3
Hence prove: L - From (1) & (2) LHS = RS | | Hence proved. . Hence proved, Henee proved
_I e
o i == 2s | a E =
= o — s e o H =
= [0 =2 T = . @ o e
A 9 cwmoozg AR - o 3 = i ey
20 Ten 44 stag ToEw ol ! i == x| & J
e o8 T w8 — 512 ° = | B
YT iose e ERLLeEERiE {l ew e AT .
I e I3 et QR A& a0 T ) s P 1 R
! e R == vy = I =2 = ppeai= It e T T E - e of Eag Lo
ramg " % o — " O RERE=RN ol R R - w T =] 2 e -
im= o e ! ;+N¢e;umﬂ‘wnw‘r}—f = . f;\\_,\l_,g 2 B oM T
- — — —_ — Er g
PN R e oy SRLE: DRSS ST T I | I -
= - [ [ [ T qe = 0 Do o P ot 1 om0 oo B . ] =
2=% 3 E ~ o g T — T ol InroEoen 3 i e 5 R
REL g o g g 8 ] " 0 I i i [ . i o g8 = Loz
35 < g = ¥ g 23 =
o S. G. BALASUBRAMANI. M.5c..B.Ed., ’
AT » L B. T. ASST. (MATHS) MATRICES.
GOVT. HIGH SCHOOL. A e e
M ACHAMBU GO :

63 n -
VELLORE DISTRICT.


https://www.whatsapp.com/channel/0029VaAqUqk9Bb672tBn033m
https://www.padasalai.net/

